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1. The emissions responsible for climate 

change are still mainly due to the current 

behavior of rich citizen, most but not all 

of which are in rich countries



Chancel: The 10-50 rule: 10% of the highest polluters 

worldwide are responsible for almost 50% of global emission. 



High polluters mainly live in rich countries

Source : Bruckner



But within country inequality is increasingly important 



Moving forward, Low and Middle income countries will play key role



2. The Costs of Climate change are 

primarily be felt in the poorer part of the 

world 



Mortality impact by 2100 (Carleton et al) 



Valuing the Mortality Costs of current emissions: 

US+EU emissions inflict 1 trillion dollars per year in mortality damages

Country
(1)

Emissions
in 2022 (Mt 
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World
(3)
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Niger
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h
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World 53,306 6,320 6,151 169 385 705 915 785 392 276

Non-OECD 38,324 4,543 4,422 121 277 507 658 564 282 198

OECD 14,983 1,776 1,729 47 108 198 257 221 110 78

U.S. + E.U. 9,409 1,115 1,086 30 68 124 162 139 69 49



3. The deal: Developing countries are 

eligible for damages, as long as they put 

in place a carbon tax (or other carbon 

pricing system), graduated by income 

level



Graduated carbon tax

• Countries in Annex 1 only are eligible (common but differentiated 

responsibilities)

• But the are eligible if they put a carbon tax, Flavor of Climate club with 

Carrot, not stick. 

• Graduated by income level

– Differentiation within developing countries: India is not Niger. 



3. Financing: Solidarity levies 



Financing: Rich countries don’t want liability



But voluntary pledges have not worked



Solution: International Taxation Mechanisms

USD 4-150 

billion

USD 100/ ton 

CO2eq, base year 

2026; approx. USD 

60 billion 

USD 5/ tonCO2, 

base year 2021, 

approx. 

USD 210 billion

2%  on wealth 

potential to raise 

USD 250 billion per 

year.

0.1% financial-

transactions tax 

could raise up 

to  USD 418 billion 

https://papers.ssrn.com/sol3/papers.cfm?abstract_id=3407855


Option 1: increase the minimum tax on corporation to 21% 

Pillar 2, multilateral (no 

carve out)
Base: 205 billions euros

Add 3%: 318 billion euros 

Add 6%: 491 billions euros

Pillar 2, EU only

Base 98 billion euros

Add 5%: 184 billion 

 

Increasing the minimum tax rate on corporation would 

raise 291 billion dollar a year 



Option 2: An international wealth tax of 2% on the 3,000 richest people in 

the world would raise 214 billions a year

Source: EU tax 

observatory, report 

of 10-/23/2023



Already pushed by Brazil in the G20



4. How to spend it



How to spend it-Governance

• One extreme version: it goes to poor countries, as compensations, as a 

function of how much money they have, no question asked 

– Legitimate questions on whether that will help the poor citizens

• Other extreme: the World Bank (or the UN, or whoever), gets it and 

administers it at a fund. It starts making grants or loans

– This is what is currently being proposed for the L&R funds, and it is not popular with 

poor countries. 



Our proposal:  Three pillars of adaptation

• Damages: Social protection & reconstruction

– Automatic transfers to households 

• UBI in very poor countries 

• triggered by climate events in richer countries

– Automatic transfers to communities to support adaptation

– Automatic transfers to poorest countries for  re-insurance for climate disaster



Why we need to do this…



Why is this necessary? 

Our moral responsibility

Without true partnership, poor

countries will stop cooperate

with the rest of the world

Without adaptation, no 

mitigation
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